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1. I e e s § afer v 3w
0 &, W 38 96T ¥ ST w7 A 7
(A) Fatrerfi sr=m
(B) 3r&qarer smafra 3w=m
(C) T ITER
(D) F I7=m

2. ®frarn % el -amh faen ar
&= |
(A) e 2014
(8) fa5aw 2013
(C) fawam 2015
(D) s 2016

3. 24mzo1saﬁtﬁawnm:
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(B) 3taven forem
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(D)

i { |
d LB
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7.

10.

1.

12.

Haryana State was formed on the
recommendation of

(A) Sardar Hukam Singh Committee
(B) Shamlal Committee

(C) Chand Committee

(D) Neki Ram Committee

A cncketer catches a ball of mass 150gin

0.1s moving with speed 20 ms™', then he
expenences force of

(A) 300 N
(C) 3N

(B) 30N
(D) 0.3N

Any bacteriologically confirmed case of
tuberculosis involving organs other than the

lungs are known by which of the following
terms ?

(A) Pulmonary tuberculosis

(B) Rifampicin resistant tuberculosis
(C) Extrapulmonary tuberculosis
(D) MuMti-drug resistant tuberculosis

Choose the comrect option for question
mark (7).
A|D]|H
F I | M
? I N|R
(A) P &) N
(C) K (D) O
Indira Gandhi University in Haryana was

located al
(A) Rewari
(C) Karnal

(B) Ambala
(D) Hisar

A is an electronic shoricul from
one place lo another.

(A) Bookmark

(B) Shortcul

(C) Hyperlink

(D) Uniform Resource Locator (URL)

10.

1.

12.

15/2019 (7)

tfamnws ) aefa o s T
(A) Tvem wm fire wfufq

(B) yEret wifvfa

(Cy =iz ufafa

Dy 7w wiafa

v fF21 20 ms ) nfa & nfasfier 150 g
ZEA F UF A7 ) 0.1s A T B, @
5 T A Foran e B

(A) 300N (B) 30N~
(C) 3N (D) 03N

& 1w AfFzfaenfare g amen
fom w2l & aifafom w5 sm s 2, 39
frafsfeanafrmm= s gaamam 7
(A) TEHTH TR

(B Frwrdifem It =it

(C) TwZTTENT ’.’I‘_‘".:fﬂ‘lii.m
(D) =g-3fmfu A s

A fa (2) & fou wd farem gfaw
A|lDI|H
F | M
2 | N[ R
(A) P (Bf N
(C) K (D) O
s et efmmmy . 8
fem
(A) TS (B) ataren
(C) FATE (D) firem
U FA W ZE R WA OO
FeragiE wieae @ |
(A) T[T
(B) AT
(Cy wrgmfers

(D) ?[ﬁ‘lflﬂ frond e ('l”m'"ﬁ)
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44. Which of the following fair is popular in

15.

16.

17.

18.

19.

- i NS

: when ted
x food substances are conver
s to srm:;m :ﬁ:r.orbable forms, this process Is

known as
(A) Inspiration
(C) Digestion

(B) Excretion
(D) Expiration

Beri village of Jajjar district in Haryana ?
(A) Masani fair (B) Devi fair
(C) Gopal Mochan fair (D) None of these

Which of these terms is used to describe
the volume of air inspired or expired during
the process of normal respiration ?

(A) Residual volume

(B) Inspiratory capacity

(C) Expiratory capacity

(D) Tidal volume

When inactive or weakened organisms are

introduced into the body to protect against
disease, this process is known as

(A) Infection (B) Autoimmunity
(C) Inhibition (D) Vaccination
Word inserts a when the page |

Is full and another page is needed.
(A) Double page

(B) Blind page break

(C) Hard page break

(D) Soft page break

Which of these is a live vaccine ?
(A) Cholera

(B) BCG

(C) Tetanus toxoid

(D) Diphtheria toxoid

Which afeﬁ\ehvomamsowoesofuiberamsls
infection 7

(A) Human and bovine
(B) Food and flies

(C) Soil and water

(D) Source and reservorr

13.

14,

15.

16.

18.

19.

1512019 (7)
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(A) &=
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20. What is the route of administration of the
BCG vaccine ?
(A) Intramuscularly
(B) Intravascularly
(C) Intradermally
(D) Intravenously

al. violate the rules of the programming
language
(A) Syntax Errors (B) Logical Errors
(C) Debug Errors (D) Interrupts

22. In which phase of DOTS is the multiblister
combipack of medicines given to the patient
for one week's course of medicines ?

(A) Intensive phase
(B) Continuation phase
(C) Primary phase

(D) Secondary phase

23. Howmany chambers does the human heart

have ?
(A) Three (B) Five
(C) Four (D) Six

24. Twenty times a positive integer is iess man
its square by 96. What is the integer ?
(A) 20
(B) 24
(C) 30
(D) None of these

25. How many sub-divisions are there in
Haryana at present ?

(A) 75
(C) 73

(B) 70
(D) 77
26. Raja Nahar Singh was the last ruler of which
district of Haryana ?
(A) Hisar (B) Ambala
(C) Ballabgarh (D) Mahendragarh
27. Whnich city is known as the ‘Weaver City' in
Haryana 7
(A) Yamunanagar
(C) Sonipat

(B) Panipat
(D) Rohtak

'-I - )
ol 4 o

1512019 (7)
20. NAM FIw oA mamiFm b

(A)~sTaTmieTeita
(B) terrafa
(C) SFmrer=im
(D) sraafai
21, , Tt s 3 et e
FAIR |
(A) frdam o (B) Slra=a uw
(C) Zram un (Dy 327<H

22. ?TEH(DOTS)%EﬁFﬂmﬁfTTﬁ?ﬁE?Sﬁ
F UF e F wd F fou gedteien

Frvaftl ga A S 2 7
(A) M7 T
(B). e wraen
(C) Mgt wra=ar
‘D). fadfrae wraz=n
23. WA TR fFEm a7
(A) 1 (B) uf=
(Cr=em (D) &
24. UF: UAIHE YUl 1 20 T IHF TIES |
96 ¥4 8, T T¢ s &
(A) 20
(B) 24
(C) 30
(D) 34 | 13 77 -
25. & A e i fra HEE 8 7
(A) 75 (B) 70
(C) 73 (D) 777
26. TN e faw wfwmon F fre B T s
9IEE Q7
(AyTrrem (B) 3faen
(C) wEemg (D) Wtmg
27. v A e e A e
sk ?
(A) T (B) Wi
(C) T (D) e
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28 ; Haryana was earlier known as

30.

.

32.

33.

(B) Bharatvarsha
(D) Jal Bharal

(A) Brahmavara
(C) Brahmavara

following Is the highesl
\g;ﬁ:t?y' :::ard for omcgrs and other
enlisted personnel of all military branche_s
of India for the highesl degree of valour in
the presence of the enemy ?

(A) Ashok Chakra

(B) Kirti Chakra

(C) Param Vir Chakra
(D) None of the above

Who discovered mycobacterium tuberculosis ?

(A) Louis Pasteur
(B) Alexander Fleming

(C) James Lind

(D) Robert Koch

The Secretariat which advised the Chola
King in emergency matters is

(A) Udanakuttum

(B) Ollainayagam

(C) Karumigal

(D) None of the above

The age of a father is twice that of the elder
son. Ten years hence the age of the father
will be three times tha of the younger son.
If the difference of ages of two sons g
15 years, the age of the fa

ther is
(A) 50 years (B) 55 years
(C) 60 years (D) 70 years

Leucocyles are found int
the other name given o

(A) Red blood cells
(B) White blood collg
(C) Platslets

(D) Plasma

he blood. \What is
them 7

8.

20.

29.

30.

31.

32.

33,

1512019 (7)
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(B)_ ey
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S | 3R g g o 1S
&, M fren =H) a1y foreeit R 7

(A) 50 = By 557

(C) 60 & (D) 70

TLHIGZE T 3 o sm § ) 3
STET T e 7
(A) 11 vt wpfiraprd

(Bf ¥a v sfrgd
(C) wrasiey
(D) vy
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34,

38.

36.

39.

Demand of Punjabi Suba in 1948 was first
raised by

(A) Tara Singh

(B) Pandit Neki Ram
(C) Sant Fateh Singh
(D) Pratap Singh

was
reported as having the highest burden of
tuberculosis in the world ?

(A) Vietham (B) Myanmar

(C) Sn Lanka (D) India

For the year 2018, which country

Which of these results in spread of airborne
infection ?

(A) Soiled linen

(B) Food contamination

(C) Droplet nuclei

(D) Unpasteurized milk

In pulmonary tuberculosis, which part of the
body is pnimarily affected ?

(A) Nails (B) Heart

(€7 Lungs (D) Kidnevs

The time from when the tuberculosis bacilli
enter a person's body until the development
of a positive tuberculin test usually ranges

between

(A) 1102 days
(B) 1to 2 years
(C) 310 6 weeks
(D) 3 1o 6 years

Yamunanagar of Haryana Is also called as

(A) Textile city
(B) Copper city
(C) Paper city
(D) Steel city

In which year was the DOTS slralegy
introduced ?
(A) 1604
(C) 2006

(@) 2015
(D) 1676

34.

35,

36.

37.

38.

39,

40,

e .. O]l H - CTE W Gl - B e

152019 (7)

1948 1 TaEht 73 7 win g am 3
331t |

(A) am fie

(B) vifza T

(C) ¥d waw e

(D) e fam

2019 7 % sram faza # gaim & waifus
TR mm

(&) fram (B) T=IHR

(C) e (D) WA

Frafefaa 3 & fre giom awget S

27

(A) Heft-aell ferma

(B) ST HEm |
(€)/gTTere FfFsmd f‘-
(D) Tzt 29

TSl & AT |, I AE-3 e m W
w4 = § wfaa Fa B 7

(A) T (B) =

(CT ®%E (D) FFh

S U ggaaetae Afged v st & win
A7 T & T AT e A
% Faewma & dim FdRR |

(A) 18 2=

(B) 1d 27T

(CT-3® 6T

(D) 3@ 64

aftEnm & AuAr @ SO @ s R
(A) TS 1 T

(B) A= & 9T

(SEIUEEIRIT

(D) ¥EIT@ I 9IE

zizn (DOTS) wrfifa few al A wanfaa 6
w7

(A) 1094
(G) 2006

(B) 2015
(D) 1976
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42,

47,

48.

In a certain code "UNDER" is wntten as
*68152@" and "DEAF" is wrilten as “52#7"
How “FRAUD" is written in the code ?

(A) 7@6#%5 (B) 72#65

(C) 7@#65 (D) 6@7#5

Which of these diseases spread from
person to person ?

(A) Non-communicable
(B) Non-infectious

(C) Infectious

(D) Autoimmune

How rg;any orbitals are possible for the level

n=4
(A) 18 (B) 16
(C) 14 (D) 12

The sum of three consecutive multiples of
3is 72 What is the largest number ?

(A) 21 (B) 24
C) 27 (D) 36 [

Ifthe volume of a cube is 729 cm?, then the |
surface area of the cube will be

(A) 456 cm? (B) 466 cm*

(C) 476 cm?? (D) 485 em?

Wno designed the high court building of
Chandigarh ?

(A) Dwen Parker
(C) De'Caprio Sela

(B) Laurel Synder
(D) Le Corbusier

In which of the following Union Territories
of India “Saddle Peak Nalional Park” is
stuated ?

(A) Andaman and Nicobar

(B) Lakshadweep

(C) Ladakh

(D) Nane of the abave

How many cities are there in Maryana al
present 7
(A) 150

(B) 164
(C) 156

(D) 167

a41.

42,

43,

46.

47.

40,

15/2019 (7)

firelt wiEfas w3 “UNDER" ¥ *6152@)°
3 “DEAF 1 “52¢7" feren =tren B, 0 34
w1 8 “FRAUD" %1 01 femm wmom 7

(A) 7@6#5 (B) 72#65

(C) 7@#65 (Z) e@7#45

T AT I = | s e g 7
(A) T-w=moftg

(8) M-wzFmmiry

(C) HFHTT

(D) FITIfatTT

n=aTm Ffom FR s HEi 7
(A) 18 (B)-16

(C) 14 (D) 12

3 % SR A T A 72 @, @ waE
THEEn TR ?

(AT 21 (B) 24

(C) 27 (D) 36

af2 foeht oo =1 amges 729 eme 8, At T =
AR A% e v 7

(A) 456 cm? (B 466 cm?

(C) 476 cm? (D) 486 cm?
TEmg ) 31 AEEr A ww = e
forem Aan fem 7

(Ay =S g (B) =it firen

©) R'4wimn #=n (D) & wefam
wira & fa=fefom 6 3 frm Somfaa oma

V8w e v k' e 7
(A) STTEHT 307 faam

(B) Tlafifiy

(C) #em

(D) Fww 9 B o ]

A o wframon o fead wer B 7
(A) 150 (B) 164
(C) 156 0) 157

T ——
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49.

51.

52.

53.

65.

What Is the “e-Khand" project in Haryana
started by Haryana Gowl. ?

(A) A Sanitisation awareness mission

(B) Digitalisation of foodgrain procurement
(C) Promoting digital payment platforms
(D) Digital health platform

How many districts in Haryana have solar
parks at present ?

(A) 20 (B) 21
(C) 19 (D) 18
Al the central level, which organization

manages the National TB Control Programme
for the entire country in India ?

(A) Central TB Division

(B) National Laboratory

(C) Central Statistics Office

(D) National Institute for Tuberculosis

The ancient name of river Markanda in
Haryana is
(A) Aruna
(C) Chaju
UnderArticle 159 of the Indian Constitution
the person appointed as Governor of State
must take oath in the presence of

(A) Chief Minister of the State

(B) President of India

(C) Chief Justice of the High C urt

(D) Chief Justice of the Supreme Court

(B) Dohan
(D) Yamu

In controlling tuberculosis, which of these
is the preventive component ?

(A) Long course chemotherapy

(B) Polio vaccination

(C) Short course chemotherapy

(D) BCG vaccination

Name the strategy where a heallh worker
walches a palient swallowing the drug
in his/her presence lo promote cure of
luberculosis

(A) DOTS

(B) UNESCO

(C) UNICEF

(D) None of the above

49,

50.

51.

53.

55.

1512019 (7)
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57.

58.

59,

60.

61.

62.

What s the theme of the International Day
of Yoga, 2021 ?

(A) Yoga at home and yoga with family
(B) Yoga for well-being

(C) Climate action

(D) None of the above

Three resistances of 2 Q, 3 Q and 5 Q are
connected in parallel o a battery of emf 10 V
of negligible intemal resistance. The potential
drop across the 3 () resistance will be

(A) 10V (B) 5V

(C)3Vv (D) 2V

When alveolar air is released out from the
lungs, what is the process known as ?

(A) Inspiration (B) Expiration

(C) Metabolism (D) Circulation
What is the term used to describe disease
causing organisms ?
(A) Pathogen

(C) Commensal

(B) Fomite
(D) Epigenetics
The number of tuberculosis cases at a given

point in tme Is measured by which of the
following ?

(A) Incidence
(C) Mortality

(B) Prevalence
(D) Case notification

When mycobactenum tuberculosis enters
into a person'’s body through the respiratory
tract, the respiratory lract becomes the
(A) Portal of exit

(B) Portal of entry

(C) Environmental factor

(D) External factor

Which of these Is the first step in the

tuberculosis control program ?

(A) Quarantine

(B) Early detection of sputum-posilive
cases

(C) Treatment of HIV

(D) Isolation

57.

58.

59.

61.

62.

1512019 (7)
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63.

65.

66.

67.

69.

70.

With regard to infectious diseases, the

organisms leave the host body through
which of the following ?

(A) Portal of entry  (B) Site of election
(C) Reservoir (D) Portal of exit

The usual strength of the BCG vaccine is
in 0.1 ml volume.

(A) 0.1 mg (B) 1mg

(C) 10 mg (D) 100 mg

What is the rank of India in the World Bank's
Human Capilal Index, 2020 ?

(A) 116"

(B) 100"

(C) 1#

(D) None of the above

Which of these is a major componentin our
food intake ?

(A) Carbohydrate (B) Vitamin A

(C) Minerals (D) Vitamin B
Which of these connective tissues is fluid |
in nature ?

(A) Cartilage (B) Body fat

(C) Blood (D) Fiber

Pandit Jasra| belongs 10 e

gharana of Hindustani classical music.
(A) Mewali (B) Kirana

(C) Gwalior (D) Ajmer

This army general who hailed from Haryana
served as the 237 Chief of Army Staff of the
Indian Army in between 2007 - 10

(A) Deepak Kapoor
(B) V. K. Singh

(C) Dalbir Singh Suhag
(D) Naik Hari Singh

Complete the seres.

1.3,7,13,21,7
(A) 27 (B) 29
(C) 31 (D) 33

A1-

63.

65.

67.

68.

69.

70.

1512019 (7)
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72.  The Video Graphics A:ray(VGA) standard is

75.

76.

71. What does the term Murrah (also known as

Black gold) mean in Haryana ?

(A) Itis a breed of buffaloes indegenous
to Haryana

(B) Itis the type of coal that Is abundant
in Haryana

(C) Itis the local term for petro|

(D) tis a type of omament wormn by
women in Haryana

(A) 640 x 48p pixels
(B) 1280 x 1024 pixels
(C) 800 x 609 pixels
(D) 1024 x 768 pixels

In which district of Ha ana, m '

i ry anganese is
(A) Gurgaon (B) Mahendragarh
(C) Hisar

(D) Kamal

(A) Ministry of Health and Family Welfare,
(B) Ministry of Defence

(C) Ministry of Home Affairs

(D) Ministry of External Affairs

Study the following arangement carefully
and answer the queslions given below -

CUBAEDEDABEBAUCDBCAD
BDUBCACBEDA

Which of the following is the fifth to the left of
the sixteenth from the left end of the above
arrangement ?
(A) E

(B) B
(C) D

(D) C
Who among the following politicians of

aryana had served as the g Deputy
Prime Minister of India ?

(A) Bansilal

(B) Sir Chhotu Ram

(C) Chaudhary Devilal
(D) Om Prakash Chautala
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Hkmmﬁgﬁ(ﬁrﬁmﬁWmammm‘e)
I F sk 27
(X) e Tl <) e i 6 = b )
{e)wwmm&‘m%ﬁmu

T AT R
(C) T et % ferw, warig 772 &
(D) 7w =i % wfrensii zm ven s
AN UF TER A Sy
aﬁ&ﬁim&(zﬂsﬁq)m 21
(A) 840 x 480 i
(BY 1280 x 1024 fyaary

(C) 800 x 500 ﬁ’mra
(D) 1024 x 768 fisas

m%mﬁ%ﬁ%wm%?

(A)

(BY TR
(C)

(D) TF=e
mmmx%aiaﬁa,zﬁq-mm%nﬁ
amr‘méaﬁdam%h%qmmm%?

(A) mwwﬁmmw

(B) &1 Tarer

(C) T Harer

(D) 291 varerg
ﬁtrfaf@aarmmarwaisﬁrﬁﬁq
‘Tt[?ﬁi%'&mi:
CUBAEDEDABEBAUCPBCAD
BDUBCACBEDA

370 e ) 718 ainéﬁlazéi%m?ain
v’faammaﬂq-m%?

(A) E (BY B

(C) D (D) C
ﬁqfaﬁaafiﬁzfmmn%ﬁwmﬁﬁm
%sa‘im—mﬁﬂ%mﬁmﬁm%?
(A) Tftens

(B) &1 Tig 1y

(C)-=irl Fefyere

(D) M W wheven
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AR = WV F SR w7
(AY =g

(B) awiHie

(C) ariadiiz

(D) THTIHIIAT T

T [ A TG e 7
(A) TIFEIES

(By HTHI= F&TH

(C) &=m

(D) =R

ety 1 8 F=5-m faen efamn = 223
IECIES

(A) famm
(By =TE ==t

(C) Teum™
(D) femm

FETTa T-sieew (FEf $iER)
& fuagna=ant ¢

(A) Fe mafatiaa

(B) TN I

(C) TAFHIIMEHS B2

(O 3 A & i e

KCI 3 N/50 ®ie 1 fafire smearar 25°C
YT 0 002765 mho ® | af2 v d« = ufdaa
400 ohm &, @ @l &1 feuoes fram @ 7
(A) 1.61 By 1.21
(C) 1.106 (D) 131
vz T AT ST TS | W SnareE
forms g frm o an 7
(A) @ sh, faerw
(B) M
() fafa =iz w@
(n)-srfad)
A
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83. Identify the Assertive senlence from lhe

Enalish Language

~g |

15/2019 (7)
= wmar

alternatives given below. 87. 'UF AT M i’ wneifE  mw wd 2
(A) Am | not your friend ? (A) e &
(B) What a bird it was | (B) = UF W REEs
(C) No one will tolerate. (Cy/am sin
(D) What a nice weather it was | (D) i & 7 7
Direction (Q.No. 84 and 85) - Fill in the blanks - q '
with a suitable word from among the alternatives | 88 317 T G O T8 STAT TeTa 5 w6 54 2
given below it. ATt
. (B) 71 1 31
84. He acts he is the owner of this
(C) U =T
place. !
(AT wherever (D) &A=
(B) as if iy “
(C) where 89. f=fafaa w=21 4 Fa-w v== i@ =1
e e 8 7
(D) as long
(A) =13
85. He was tired he went to work. 5
(A) and (B) rFqu
{B(bul (C) W
(C) since (D) 984
(D) or
0. el it-+fit seren @ | B
86. Usea blank.
ppropnate modals to fill in the - ik
you like to have lunch now 7 (A) T AT
(A7 win Fip——
(B) Would
(C) fia @
(C) Shall
(D) Can (D) vl AT
A 14
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